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Question No. 1
What is the full form of SONAR?
A)Sound in Navy and In Receivers B)Sound Navigation and Ranging
C)Sound Not in Aircraft Range D)Sound Navigation and Receiving

SONAR T qof &9 T 8?
A)TT38 &7 AdY U3 37 R&Aa (Sound in Navy and InB)am3s Afaded us ISeT (Sound Navigation and

Receivers) Ranging)

C)H138 #le 34 TR I (Sound Not in AircraftD)amss aAfddiea s REAIfdar (Sound Navigation and
Range) Receiving)

Answer Key : B Your Response : B (Correct)

Question No. 2

In a certain code, 'ABC DEF' is written as 'ZYX WVU'. How would 'LOSS' be written in that code?
A)OLHH B)OWHH
C)OMHH D)OHLL

w fafeaa gesmr &, 'ABC DEF &Y 'ZYX WVU' forar Sirer §1 3¢ gresmmr 3 'LOSS' #r &= forar smeem?

A)OLHH B)OWHH
C)OMHH D)OHLL
Answer Key : A Your Response : A (Correct)

Question No. 3
If X2 - 4x + 4b = 0 has two real solutions, find the value of 'b".
Ab=0 B)b < 1
C)b = +1, -1 D)b = 1

I X2 - 4x + 4b = 0 F & IRAAF & &, Y 'b' F AT AT ST

Ab =10 B)b < 1
C)b = +1, -1 D)b = 1
Answer Key : B Your Response : Not Answered

Question No. 4
Under which of the following conditions can we boil water at room temperature?
A)At atmospheric pressure B)At very high pressure
C)At low pressure D)At high pressure

AfaflRd F ¥ 5o R % &7 # §F a9 | 96k 39 g 52

A)IgHST g W B)31cafs g9 WX
C)eFeT 319 W D)3=T gd W
Answer Key : C Your Response : C (Correct)
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Anjali can complete a job in 10 days. Banu can do it in 5 days. In how many days can the job be done, if they
work together?

A)3.5 days B)7.5 days

C)6 days D)3 days 8 hours

Jioifer o FF F 10 BT F qoF a0 el 81 ], 3% 5 ReT 3 F #¢ FFar §1 IR ¥ v 997 FF =
& 30 P A Praer et 7 qut R s wwar 32

A)3.5 f&aT B)7.5 f&eT
C)6 f&et D)3 f&eT 8 ©e
Answer Key : D Your Response : D (Correct)

Question No. 6
What is the theme of "World Water Day', 2019?
A)Leave no One Behind B)The Sun, the Earth and the Weather
C)Wetlands and Climate Change D)Forests and Education — Learn to Love Forests

R S RBaw, 2019, A RAwr-awg = §?

A)fRdr FF 9 a1 oIer B)gd, geer ik AtwA
C)3 A 3R Sorary aface D)aa 3R R - gaf & 9T F=r O
Answer Key : A Your Response : Not Answered

Question No. 7

With which sport was Arthur Pereira associated?

A)Volley ball B)Tennis

C)Basket ball D)Football

IR o fFe A et 42

INEICIEIC] B)cfarer

C)arheaiet D)pesiier

Answer Key : D Your Response : Not Answered

Question No. 8
The time period between a full moon and the next full moon is slightly longer than how many days?
A)31 days B)28 days
C)29.5 days D)26 days

e QT T SR JETel YtAT & drr i sty e Rt & O R el 7

A)31 et B)28 f&at
C)29.5 fat D)26 f&t
Answer Key : C Your Response : Not Answered

Question No. 9
If the object is placed between infinity and optical centre O of the concave lens, how will the image be formed
after refraction?
A)Diminished B)Point size
C)Of same size D)Enlarged

L S e A A Y P s SOy R 1] ;‘-77 TAn



iy avg ¥ 3Fa 3R Pl saae oW & ifter dex O F @i @ e §, d e ¥ A wfafde dr
Ta?

Aeifad (81 B)fig % 3R &
C)HATT 3THR &M D)3mafda
Answer Key : A Your Response : A (Correct)

Question No. 10
If 'Water' is called 'Food', 'Food' is called Tree', Tree' is called 'Sky', 'Sky' is called 'Well' and 'Well' is called
'Pond', which of the following would provide us fruits?
A)Well B)Food
C)Sky D)Tree

I S B OCASE, WS B, G B AR, HWER FOFgA AR CFE A A wwr Swer § oo
Prfaf@a ¥ ¥ e &f war Baem?

A)F3T B) sirsteT
C)3merer D)geT
Answer Key : C Your Response : C (Correct)

Question No. 11

L =
. . Tm . wm . 3m . B5m
Find the value of sin — sin Z sin Z sin Z

A) B)

1/16 1/8

C) D)

3/16 1/4

. T . mw . 3w . bm :
Sin Z sin Z sin ? s ? ehl HTA Hld EFT!

A) B)

1/16 1/8

) D)

3/16 1/4




Question No. 12
The radius of a circular wheel is 7/4 m. How many revolutions does the wheel make to cover 22 km?
A)1000 B)2000
C)100 D)4000

T JeaeR URT Hr BT 7/4 e 1 R 22 Rreikiet #r g aa FRer 3 R 9eE g 87

A)1000 B)2000
C)100 D)4000
Answer Key : B Your Response : B (Correct)

Question No. 13

Which number will best complete the relationship given below?

12:30::20:7
A)42 B)25
C)32 D)35

wler ¥ dewr A Re v Hay A waleaw dor @ gt el

12:30:20: 7

A)42 B)25

C)32 D)35

Answer Key : A Your Response : Not Answered

Question No. 14

In the following question, correct the equation by interchanging the two signs.

7+10+5-5=10
A)+ and - B)+ and =
C)+and - D)+ and +

i@ wea & , o Rt A 399 7 TR FHFOT B TE R

7+10+5-5=10
A)+ 3R - B)
C)+ 3K - D)

Answer Key : C Your Response : C (Correct)

+

Question No. 15




Complete the series.

9,5.5,7.5,19, 84, (...)

A)652 B)621

C)688 D)695

Aol ¥ ot F

9, 5.5, 7.5, 19, 84, (..)

A)652 B)621

C)688 D)695

Answer Key : C Your Response : Not Answered

Question No. 16

Which of the following is India’s First Integrated Green Field Smart City?
A)Chennai, Tamil Nadu B)Bengaluru, Karnataka
C)Atal Nagar, Chhattisgarh D)Bhopal, Madhya Pradesh

AT # & Fla & sRa A Twer vhga A@iw fies FIE /A 2

A) =TS, RS B)S9TeIS, Feliceh
C)3cdl IR, BealdeG D)HTaTe, FLT TGer
Answer Key : C Your Response : Not Answered

Question No. 17

Find the ODD one out from the given options.

AF B)H
C)N D)U

R 1T Rt ¥ I ¥

A)F B)H

C)N D)U

Answer Key : D Your Response : D (Correct)

Question No. 18

Which of the following is the strongest material on earth?
A)Carbyne B)Aerographene
C)Aerographite D)Soap stone

Prfaf@e & & #9 gefr W Hed FRaT Tt 37

INECIECH B) WIaImthet
C)WRI%IEe D)"Y EleT
Answer Key : A Your Response : Not Answered

[ e A e o s 7 | Thn



Rajan got married 8 years back. His age then was 5/6 of his present age. His sister was 10 years younger at
the time of his marriage. How old is she now?

A)40 B)32

C)38 D)26

TS $r AT 8 T Tg g A T IHH HY, SR q0A Y F 5/6 A SR A F FHT IHHN oA
& IR 3/X 10 aF FoT | g B TAAT A Frcedr §?

A)40 B)32
C)38 D)26
Answer Key : C Your Response : C (Correct)

Question No. 20

If x=3-42, thenfind the value of 3x* + 2x — 4.

A) B)

20-2 35442

C) D)

35-20+/2 35-2+/2

NS

A x=3-2, T 3x® + 2x— 4 T AT AT HL

A) B)
20-+/2 35+-2
C) D)
35-20~/2 35-2-2
Answer Key : C Your Response : Not Answered

Question No. 21
Decimal part of any number is always .
A)<0 B)>2
C)<1 D)>1




A)<0 B)>2
C)<1 D)>1

Answer Key : C Your Response : C (Correct)

Question No. 22

Complete the series.

125, 169, 25, 13, 5, (...)

A)1 B)2

C)3 D)0

Fofr # ot w¥

125, 169, 25, 13, 5, (.)

A)1 B)2

C)3 D)0

Answer Key : A Your Response : A (Correct)

Question No. 23
A clock is set to the right time at 4:00 AM on Thursday. If it gains 20 seconds in every 3 hours, then what is
the time shown on the clock at 8:30 PM on Friday night?
A)8 hours 34 minutes PM B)9 hours 34 minutes PM
C)8 hours 34 minutes 30 seconds PM D)8 hours 30 minutes 30 seconds PM

TF G F IGAR B A 4:00 FoF W WAT W YT Fr Ser §1 AR IF wd wdw 3 € F 20 I W
S §, o YA T 8:30 T W EPr I Fcem WHT grem?

A)8 s 34 fRsie Jr B)9 Sofe 34 fAee A
C)8 soiex 34 fAsic 30 T&s O D)8 sotx 30 fAee 30 A% T
Answer Key: C Your Response : Not Answered

Question No. 24
70% of the employees in a firm are men. 30% of men and 20% of women employees opt for voluntary
retirement. What is the percentage of the total number of employees continue in service?
A)70% B)27%
C)73% D)30%

TH B H 70% FAEAN GO0 §1 30% T AR 20% Afer FAd WReTw Jarfagiear # Rwer g §1 dar
# o e are Rt A HE, For S F R gfoe §2

A)70% B)27%
C)73% D)30%
Answer Key : C Your Response : C (Correct)

Question No. 25
Rahul starts walking towards west. After a while, he turns left and then to his right. Again he tumns left and
) S ey [ s T T LA W / |

A=A R e R et T 1 .;.»7 / Tan

PTG AP T PRSI |



C)Four turns D)One turn

Tgel IREH Hr AR ToedT YE el §1 AP & a0, I§ A9 A} Azr § AR BT 30 g 3R {3 AW

% 91 3R 3 ¢ AR AR 18 3N 3w {1 F@ Fraelr a) ST Fr iR Iqer ¥

A)al a- B)deT aR
C)arR IR D)ts SR
Answer Key : A Your Response : A (Correct)

Question No. 26

Which of these substances is present in tobacco?

A)Caffeine B)Hashish

C)Nicotine D)Morphine

st ¥ T o vare darg 7 Fisg or §2

A)Fhr B)garar

C)fFrdeT D)7

Answer Key : C Your Response : C (Correct)

Question No. 27
What is the difference between the largest and the smallest fractions among 2/3, 3/4, 4/5 and 5/6?
A)3/5 B)1/7
C)1/6 D)2/5

2/3, 3/4, 4/5 3K 5/6 ¥ ¥ T T IR FIA TS Bo~T T IR AT ARSI

A)3/5 B)1/7
C)1/6 D)2/5
Answer Key : C Your Response : C (Correct)

Question No. 28

Find the smallest among these fractions.

112, 3/5, 2I7, 5/6
A)3/5 B)5/6
C)2/7 D)1/2

Afef@d # & g9 S B 7T fiewl

172, 3/5, 217, 5/6

A)3/5 B)5/6
C)2/7 D)1/2
Answer Key : C Your Response : C (Correct)

Question No. 29
Which of the following states is associated with the classical dance, Odissi?
A)Madhya Pradesh B)Odisha
C)Bihar D)Kerala

A dgwr T T T  ,



C)i¥gR D)ader

Answer Key : B Your Response : B (Correct)

Question No. 30
The Constitution of India is republic, because it-
A)Provides for adult franchise B)Contains a bill of rights
C)Has no hereditary elements D)Provides for an elected Parliament

R FT WAL IR §, Fife-
A)ZTH TITH ATITASR HT IEUH Yol fhar 3= g B)gad e JfOeR adys aiffe fhar = g1
C)g®H HIg aRMMIeldd UeHh 61 & D)o AaiRIa dwe &7 U YT fohar o g1

Answer Key : C Your Response : Not Answered

Question No. 31
How much profit is got by selling goods at Rs.405 at a profit of 12.5%?
A)Rs.40 B)Rs.45
C)Rs.51 D)Rs.36

Rl g P 12.5% F T | T. 405 F a°er 91 fcrerr @eT Wioe gen?

A)F.40 B)%.45
C)%.51 D)%.36
Answer Key : B Your Response : B (Correct)

Question No. 32

A watch is sold at 5% loss. If the cost price had been 20% more and selling price Rs.115 less, there would

have been 40% loss. What is the cost price?
A)Rs.550 B)Rs.500
C)Rs.450 D)Rs.520

F T3 5% g 9 o SRl §1 IR F AT 20% AOF diar s Rshr e ©.115 Fo @, o 3w fRehr

¥ 40% Fr Ffer BNl 7 H{ew AT AfSC

A)%. 550 B)%. 500
C)%. 450 D)%. 520
Answer Key : B Your Response : B (Correct)

Question No. 33
A compound has the molecular formula CoHgO. The name of the compound is-
A)Ethanol B)Both dimethyl ether and ethanol
C)Ethanoic acid D)Dimethyl ether

& AT Fr 3] GF CHeO &1 AT Fr oo Faswl

INES I B)ssfAuse 2 3R sq=Ter grar
C)&dsissh 3Fal D)srsfAuEe S
Answer Key : B Your Response : A (Wrong)

Question No. 34




Which of the following options will best complete the relationship given below?

2(101)5
8(246)3
3(222)7
A)132 B)213
C)123 D)231

fAfaf@d & & Fia a1 ReeT A Be v day #r wafcas &1 § gof Fem?
2(101)5
8(246)3

3(27?)7
A)132 B)213
C)123 D)231

Answer Key : B Your Response : B (Correct)

Question No. 35

Find the Compound Interest on a sum of Rs.1000 at the rate of 10% per annum for 1.5 years when interest is

compounded half-yearly.
A)Rs.157.63 B)Rs.167.36
C)Rs.160.55 D)Rs.150.25

3.1000 Fr R W 10% TP AT T & 1.5 T F ST ¥ 06T Ff, 59 S 7 I0ET IT-ais

THYRG MR R AT S ¥

A)%.157.63 B)%.167.36

C)%.160.55 D)%.150.25

Answer Key : A Your Response : A (Correct)

Question No. 36
Bala is facing west and moves forward; then he turns 45° to his left. Which direction is he facing now?
A)North west B)North east
C)South east D)South west

arer afRas A 3R g T AN Foar & AW TF I ¢ AR 45° gET ¢l 3 g R R F oy PR g
&

A)3cR 9iTgH B)3eck q&
C)afaror qa D)efaror ufRas
Answer Key : D Your Response : D (Correct)

Question No. 37

I S e A A Y P s Sy R 1] ;‘-77 TAn



Choose the alternative that best replaces the question mark(?) in the

given figure.
32 | 85| 64
5 1 13| 10
1 ]3] 29
6 | 40 | 24
A) B) o
6
C) D) 4
7

30 TOeT & 909 ®Y, S APl H 99T [ea (?) & A W ™
I % T wafeaa sagea e

32 | 85.| 64
5 | 13| 10
1|3 | 7?
6 | 40 | 24
A B)
6
C) D) 4
T
Answer Key : B Your Response : B (Correct)
Question No. 38
is the richest source of Vitamin-C.
A)Lemon B)Milk
C)Pulses D)Red meat
Ref@=-C #r ge@ wogg wie Bl
AT B)gH
C)arer DRE #Hie
Answer Key : A Your Response : A (Correct)

Question No. 39
[ e e e e —



Read the following information carefully and answer the question given below.

P,Q,R,S,TU,Vand W are playing a game standing in a circle facing outwards. R is neither the neighbour
of P nor V. S is the neighbour of P but not of W. T is the neighbour of W and is third to the right of U. Q is the
neighbour of U and fourth to the left of S.

Who among the following stands between S and T?

A)Q B)P
C)R D)W

RRT IEeRT FF taeT ¥ 9@ AR T Re v e # 1 3] &)

PLQRSTUVIRW TRAMNMPTRIF G JaF IR W IR F AT TG W IR, T a
PHEINAGVFRI XTI S, PFIA AT e, AR WHF AN TWFIa F 3R U F g
IR A T R @r §1 Q, U & 79 i 3R S & a1 3R 9l v1e W) @er §1

Rl d s WS IR THFIa T @ &2

A)Q B)P
C)R D)W
Answer Key : C Your Response : C (Correct)

Question No. 40

When is 'National Energy Conservation Day' observed?

A)02 October B)06 October

C)14 December D)12 November

TSEAT il FETOT fad e HART SAIer 87

A)2 gy B)6 KIETSERE

C)14 feaFsX D)12 sgFsX

Answer Key : C Your Response : Not Answered

Question No. 41

Which of these is NOT a joint?

A)Neck B)Ankle

C)Knee D)Elbow

ot ¥ Fler T U S A &2

A)ITET B)e@=T

Cygea D)iEet

Answer Key : A Your Response : A (Correct)

Question No. 42
The electrons present in the of an atom are known as the valence electrons.
A)Outermost shell B)Second shell
C)First shell e T e, Ty _ e Tan




ey oy & ¥ FloE ol At WASl SAagial & ¥ i ST ST ¢

A)TEITH I B)g@ax ir
C)dgel hIar D)dreddd & Ygel hIer
Answer Key : A Your Response : A (Correct)

Question No. 43
Which of the following creatures does NOT usually lay eggs in its own nest?
A)Sparrow B)Cuckoo
C)Parrot D)Pigeon

efaf@a & ¥ @i a1 wolr 3mereElk 9 3er afwer & 32 gt &ar 87

AT B)ehIrel
C)drar D)aFec
Answer Key : B Your Response : Not Answered

Question No. 44
Find the value of sin 120° sin 240° sin 270°.
A)1/8 B)-1/8
C)-1/2 D)3/4

sin 120° sin 240° sin 270° & AT AT HfST|

A)1/8 B)-1/8
C)-1/2 D)3/4
Answer Key : D Your Response : D (Correct)

Question No. 45

Silver article turns black when kept in the open for a few days due to formation of-

A)AgS B)H4S

C)AgSO, D)Ag,S

Fo Rl aF g & W & W Gy fr o Fwge & Sl Y FoIg W Frell @ SN
A)AgS B)H,S

C)AgSO, D)Ag,S

Answer Key : D Your Response : D (Correct)

Question No. 46
Ratio of the volumes of a sphere of radius 'r" and a cylinder of radius 't and height "2r' is:
A)3:2 B)2:3
C)3:5 D)5:4

B v 9 o A qur B v v S 20 e T U do & A B AT AT P

A)3 ;2 B)2 : 3
C)3:5 D)5 : 4
Answer Key : B Your Response : B (Correct)

Question No. 47




Read the following information carefully and answer the question given below.

Ten friends are sitting in two parallel rows of six seats each. One seat is vacant in each row. M, N, O, P and Q
are sitting in row-1 facing south. D, E, F, G and H are facing north. Each likes different brand of shirts—Otto,
Wrangler, Cherokee, Lee, Van Heusan, Derby, Ruggers, Allen Solly, Peter England and Raymond.

G sits third to the right of F and likes Lee. Only two people sit between E and the vacant seat. E does not like
Van Heusan or Cherokee. Q is not an immediate neighbour of O. N likes Raymond. The one who likes
Cherokee faces the one who likes Allen Solly. The one who likes Cherokee sits opposite to the one who sits
on the third right of the person who sits opposite to G. O is not an immediate neighbour of P. H, who likes
neither Van Heusan nor Derby, does not face the vacant seat. Neither G nor F sits at any of the extreme ends
of the rows. P faces F. Vacant seats are not opposite to each other. Two seats are there between O and N,
and N sits on the third right of the one who likes Ruggers. The one who likes Peter England faces the one
who likes Lee. The persons who like Otto and Allen Solly are adjacent to each other. Vacant seat of row — 1 is
not an immediate neighbour of P. E sits at one of the extreme ends of the row. F does not like Otto and Allen
Solly. Vacant seat of row-1 does not face G who does not sit at any of the extreme ends of the row.

How many people will sit between vacant seat and E?
A)Two B)Five
C)Four D)Three

rfaf@T SEeElr #F taer & 93 3 AR R are wee # 3w &)

& AT oF Wit areh & sAEiar At % 3% § v s 9T F e die @ 1 M, N, O, P 3k Q Wi
-1 3 gfRir #r 3R 5 B & & D, E, F, G 3R H 3ar #r 3R 75 B & §1 77 = Rt sz
3, Yorer, AHY, o, T gOA, =, WRA, veet wied, dex $odls Sl Wiz & o€ g €1 G, F ¥ 9 IR
W T W § AR A gz wig W §1 E AR @l de F drr Faer & oor 8§ E w7 e g 9
T 715 TG A §1 Q, O T Prhean gPRdr A€ 1 N+t Wiz iz o &1 S SR 9iz TWg Tl § @
T Wil S G A A F WA FoT §1 S R FT WG WA § TE G F AR IS g AT F
T8 T A T W A AT & wee dor §1 O, P ereaw vk it ¥IH, S o o @ goe I
a1 & =< iz F g T §, el We A 3R F G @ do1] o1 aF G AR a1 § F 9T & B o aR
W g 35 § P, F & weme dor ¥ @reh W wwg@y & 0T Wt et §1 A WE O 3k N & drw # §
AR N, TR sz Ff g = a1 & g8 A IR T W do7 §1 S drex Foels qi H gHg e § a§ o
IS g N a1 & T dor §1 T cafFat @ ey 3R e Wil 7 whg §, F vhgW F 8% aore
5 §1 9T 1 9 @ehr die, P & Pwcan SR af &1 E Bl v diea & il 8 @ dor §1 F @ 3ier
3R veer Wil sz Wig AE §1 G, S 9T & R o o w A dor &, 9T -1 fr @R A 39F I
et Bl

arelr ¥ 3R E & &g fraey &t 8 §?
Ayar B)ur=r

M\=TTT | - s - 0 B SIS P 7, [ LN ERAR Bl ﬂ"y,' T




Question No. 48
Evaluate: 1299 x 1299
A)1687401 B)1683701
C)1685701 D)1538501

g AIfoe: 1299 x 1299

A)1687401 B)1683701
C)1685701 D)1538501
Answer Key : A Your Response : A (Correct)

Question No. 49
Which of the following is an eye disorder?
A)Jaundice B)Sinus
C)Arthritis D)Myopia

faf@a F ¥ Fler ar 3@ 1w RAFER &2

A)diferar B)dTSaH
C)arfear D)fese e aIw
Answer Key : D Your Response : D (Correct)

Question No. 50

Up to which element was the law of octaves found to be applicable?

A)Potassium B)Calcium

C)Cobalt D)Oxygen

g acF aF s e o ger 87

A)ureRTea B)&forrast

C)FIeTeT D)3itereiIete

Answer Key : B Your Response : B (Correct)

Question No. 51
In a bag, there are coins of 25 paise, 10 paise and 5 paise in the ratio of 1 : 2 : 3. If there are Rs.30 in all, how
many 5 paise coins are there?
A)150 B)50
C)100 D)200

THATH, 258, 10N AR S WA F RF 1:2: 3 F g F &) IR 7 F Tor Mo T30 &, A 5
R F e R &2

A)150 B)50
C)100 D)200
Answer Key : A Your Response : A (Correct)

Question No. 52
The force of attraction between two objects of masses 'M' and 'm' which lie at a distance 'd’ from each other is
directly proportional to the-
A)Sum of the masses of objects M + m B)Product of the masses of objects M x m
: Dﬂm of the

5 e SN P ] |

of objects M? + m?

I Tam

C)Difference betwplpn masses of ohiects M - m
STy 1L S e AT

|/1ates-of_masses

s



W g ¥ d g W Rua, M 3k m gemaeT arehr @ aeget & @i e arem mwdor o *
ST el &1

A)aE3t & GeIATEAT HT AT M+ m B)aEd3il & ged ATl I IUThel M x m
C)a¥3il & e &7 i’ M - m D)aec3it & gegdmE & galt & AT M2 + m?
Answer Key : B Your Response : B (Correct)

Question No. 53

Which of the following has a higher electric resistance?

A 100 Q, 80 Q bulb or 60 Q bulb?

A)60 Q B)100 Q

C)80 Q D)AIl have the same resistance
T # & Rrae g vy 3=7 7

100 Q, 80 Q So« AT 60 Q Feu?

A)60 Q B)100 Q

C)80 Q D) & IIeRIT TAT gl
Answer Key : B Your Response : B (Correct)

Question No. 54
A bus leaves Agra at 5 AM and reaches Delhi at 12 noon. Another bus leaves Delhi at 8 AM and reaches
Agra at 3 PM. At what time do they meet?
A)1:30 PM B)10 AM
C)11:30 AM D)9:30 AM

TF 96 PaE 5 FoF APRT F & @t § AR Poew 12 wor Roeh wgerh ¥ v AR 9w gaw 8 T e &
TameT gt § 3R 3 Wor ST wgEeh §1 & fry W e €2

A)1:30 Sof guge B)10 & geig
C)11:30 5o §§ D)9:30 ot e
Answer Key : B Your Response : B (Correct)

Question No. 55
Which Mughal Emperor founded Fatehpur Sikri as his capital city?
A)Aurangzeb B)Babur
C)Akbar D)Humayun

R T[T WAE A HelgqT VR FT 39T JoTerelr S

A) e B)aeR
C)3rhsR D)gAr
Answer Key : C Your Response : C (Correct)

Question No. 56




Howmany triangles are there in the givenfigure?

A) B)

C) D)

A) B)
8 10
0) D)
6 5
Answer Key : B Your Response : B (Correct)

Question No. 57

Speed of a boat in still water is 13 km/h. Speed of water current is 4 km/h. In what time can the boat cover 68

km upstream?
A)8 hours B)7 hours 33 minutes
C)4 hours D)7 hours

R Ster % v ag fr w13 flr / der §) anr i w4 Rl / der 31 e F Roda 68 feh fr gl
T T & A9 B e 71T @

A)8 e B)7 ge 33 fee
C)4 gc D)7 g
Answer Key : B Your Response : B (Correct)

Question No. 58
What is the name of the scheme proposed by the HRD Ministry to track academic performance of school
children across the country?

MThA nacfrrmnaee DRI 5 L o e o A T D Oy e 7 | TAn




R G F el oAt F daOF wedle | AR W@ F AT HRD A1 @Rr e Aeie T A 4T 87

AT WReAT B)ugeTeT
C)3rfraxy D)eITelT 3TREAdr
Answer Key : D Your Response : B (Wrong)

Question No. 59
f23 @47 $22=48and34 @18 $ 13 =39, then 12 @43 $ 14 =7
A)35 B)29
C)41 D)31

IR 2 @47$22=48313M4 @18$13 =39, N 12@43$14="7

A)35 B)29
C)41 D)31
Answer Key : C Your Response : C (Correct)

Question No. 60

Find the ODD one out from the given options.

A)153 B)317

C)137 D)731

R are Rt 3 ¥ T B

A)153 B)317

C)137 D)731

Answer Key : A Your Response : A (Correct)

Question No. 61

Complete the series.

48, 24, 72, 36, 108, (...)

A)73 B)54
C)52 D)67

Aofr @ qut #¥

48, 24, 72, 36, 108, (..)

A)73 B)54

C)52 D)67

Answer Key : B Your Response : Not Answered

Question No. 62
How many atoms does a molecule of oxygen contain?
A)3 B)4
C)2 D)5




A)3 B)4
C)2 D)5
Answer Key : C Your Response : C (Correct)
Question No. 63
The Simple Interest on some amount of money for 2 years is Rs.400. If 'f' is 4% more, then the Simple
Interest will be Rs.400 more. What is the original amount of money?

A)Rs.4000 B)Rs.12000
C)Rs.10000 D)Rs.5000

R TR W 2 9§ F FTURT AT $.400 §1 AR P, 4% 31fOF T, A WYURT AT $.400 31®F Aan 98

A TR Rreer §7

A)%.4000 B)¥.12000

C)%.10000 D)%.5000

Answer Key : D Your Response : C (Wrong)

Question No. 64
Find the smallest integer whose cube is equal to itself.
A)1 B)0
C)-1 D)2

e Ber its 7ia e T o9 T4 F T 8

A1 B)0
C)-1 D)2
Answer Key : C Your Response : C (Correct)

Question No. 65
Which of the following Indian Presidents served the longest in office?
A)Dr. S. Radhakrishnan B)Dr. Shankar Dayal Sharma
C)R. Venkatraman D)Dr. Rajendra Prasad

fafaT F ¥ v AR Teeufd F1 SR TS &6 ®@I?

A)EL. S. TEITHSOT B)ST. e/ gaTel AT
C)R. dehe#uT D)3l. Ieig gaG
Answer Key : D Your Response : Not Answered

Question No. 66

Which of the following countries in April has sent a team of climbers up Mount Everest to remeasure its

height?
A)Nepal B)India
C)Russia D)China

AT # ¥ FT 3 ¥ A T A FA§ A AART A9 F AT 30 7 I IR g Fr AT
TERIE T T 32

INGEIE] B)#Re

cyxm D)t

Answer Key : A T ‘Your_Rggﬁls/e,:_NotAAnswened

el . =2 S e B Pt T |




The rolling of thunder occurs due to-
A)Single reflection of sound from a very big cloud

C)Heavy rains pass the sound very fast

ITERE H G #fr aoig A o &1
A)TH SE 3 STgel § €afel & TH IR RIdciol

)l st & &R eafey sga dolt & o ¥

Answer Key : B

B)Successive reflections of sound from a number of
reflecting surfaces such as clouds and land

D)Supersonic aircraft passing through cloud

Beafer & dgell 3R §1fA ST H$ Wraceh Hasl A
ERECARNERE
D)Free & IR FoREIfIeh [GHTT

Your Response : B (Correct)

Question No. 68

Complete the series.

1,2, 6,24, 120, (...)
A)720
C)715

Aot 3 gt k1

1, 2, 6, 24, 120, ()
A)720

C)715

Answer Key : A

B)711
D)725

B)711
D)725

Your Response : A (Correct)

Question No. 69

Who discovered that mosquitoes spread malaria?

A)Sir Ronald Ross
C)Michael S Brown

3 91T $r @ e fr fF weew, FARAr ey §2

A)TR UATes AT

C)ATSehel S 3
Answer Key : A

B)Sir Issac Newton
D)Homi Bhabha

B)TR 3MSsieh =gcal
D)8 arer

Your Response : Not Answered

Question No. 70

How is food energy measured?
A)Metre
C)Calories

srster fr ST Fr FE AT ST 82
A)#HET
C)&er

Answer Key : C

B)Kilowatt
D)Kilogram

B)fereitare
D)ferettam#

Your Response : C (Correct)

Question No. 71

O —— TAn



Complete the series.

C,H,M,R, (..)

A)X B)Y
C)W D)V

Aofr @ qut

C, H, M, R, (.)

A)X B)Y

cw D)V

Answer Key : C Your Response : C (Correct)

Question No. 72

Solder is an alloy of-
A)Lead and tin B)lron and lead
C)Copper and tin D)Copper and aluminium

Hest #r fyreng 8

Aoz 3R fea B)aligr 3R @3
C)diar 3R feat D)diaT 3R TegHiaH
Answer Key : A Your Response : A (Correct)

Question No. 73
What are the LCM and HCF of the reciprocals of 18 and 24?
A)72,6 B)1/72, 1/6
C)1/6, 1/72 D)1/6, 1/4

18 31K 24 F =gowat F T (LCM) 3R FAH.T (HCF) 7T Al

A)72, 6 B)1/72, 1/6
C)1/6, 1/72 D)1/6, 1/4
Answer Key : C Your Response : C (Correct)

Question No. 74

When two or more resistances are connected between the same two points, they are said to be connected in-

A)Across B)Series

C)Parallel D)Line

o9 & 4 & ¥ 3t vkt # o aee & Rt F ST A &, v @ A &
A)IR-IRX B) 4oy

C)aATATR D)rset

Answer Key : C Your Response : C (Correct)

Question No. 75

The substance that is usually lost by the body during dehydration is-
A)Sodium chloride B)Sugar

D)\Calcium Phasphate
VN & /O Thn

C)Potassium chlorildﬁ - —

S L S e



ASTeNRoT & SR ;SRR ¥ A5 @i areT Yery FieT a1 87

AT FARSS B)2rSRT
C)urfRTa Felitigs D)hferrad wivthe
Answer Key : A Your Response : A (Correct)

Question No. 76
In which sport was Raghunandan Gokhale the first person to win the Dronacharya Award?
A)Badminton B)Chess
C)Table-Tennis D)Kabaddi

YA QU R BT, Tgre MEd fFe e § FEitd a7

A)dsfiesT B) eIt
C)cael D)&agsr
Answer Key : B Your Response : Not Answered

Question No. 77
If P, Q and R can complete a job in 24, 16 and 12 days respectively, how long will they take to complete the
job working together?
A)6 days B)5 days 8 hours
C)5 days 12 hours D)5 days

ik P, Q 3k R, Rt w1 @ w24, 16 3R 12 Reh F g & wwa § o 378 arr Peaw = w9

T FA 7 Rctar W Hem?

A)6 et B)5 &t 8 ®¢

C)5 feeT 12 ©¢ D)5 feat

Answer Key : B Your Response : B (Correct)

Question No. 78

Find the ODD one out from the given options.

A)4283 : 8432 B)7319: 1793

C)3152 : 5321 D)1975 : 1579

fow 1w fFedt 3F ¥ rEeTT P el

A)4283 : 8432 B)7319 : 1793

C)3152 : 5321 D)1975 : 1579

Answer Key : D Your Response : D (Correct)

Question No. 79

The underground water due to the hot rocks present inside the Earth which can tum the
turbines of generator to produce electricity.

A)Turns to ice B)Turns to steam at high pressure

C)Cools down D)Flows out

g F 3W Al BT TEEl F FROT PR S T 3Ter & SPReT & WaRT W

fastelr der r ST WRdr B
A)TF 7 Feor 1T Bl B)3Td &9 W HIY H d&el ST gl
C)3sT & i &l [ e e e I?\aaﬁ.r =2 %} |



Question No. 80

Which of the following elements is known as the eka-boron?
A)Silicon B)Gallium
C)Aluminium D)Scandium

RRT F ¥ FY 9T A €S F T 7 ST F1ar §?

A) faforenia B)3tforg
C)vegAaras D)Thizasd
Answer Key : D Your Response : D (Correct)

Question No. 81
Which of the following types of medicines is used for treating indigestion?
A)Antacid B)Antiseptic
C)Analgesic D)Antibiotic

@ F ¥ Y YFR Hr @it F 39T 39T F ST $ QU BFAr S &2

A)teias B)uérATe®
C)TaTeat T iieh D)UEETaIeH
Answer Key : A Your Response : A (Correct)

Question No. 82

Complete the series.

BS, GT, KA, PN, (...)

A)AP B)HO

C)HI D)TD

Aofr 3 qot +¥

BS, GT, KA, PN, (-)

A)AP B)HO

C)HI D)TD

Answer Key : D Your Response : D (Correct)

Question No. 83

Blood circulates from arteries to veins through microscopic vessels known as-
A)Corpuscles B)Cells
C)Capillaries D)Calories

& A gt & RRmit #F ROnr gt afoest & areaw ¥ vaifea R siar §, 378 = er S 8

INETSEaIY B)=ifIeTe
C)F e D)SeRr
Answer Key : C Your Response : C (Correct)

DESEET

Questjon No, 84
GER D T T Y / l e



In the given figure, the circle represents married men, triangle
represents working men, and rectangle represents adult. Which region
represents married men who are also adult only?

A) B)

Ur

A) B)
7 5
) D)
6 2
Answer Key : A Your Response : A (Correct)

Question No. 85

The interior angle of a regular polygon is 150 degrees. The polygon is a/an:

A)Decagon B)Octagon

C)Septagon D)Dodecagon

T GHAGS T AHiaRke Hor 150 A ¥ IE TG & gl

A)gRrsaT B)3rscatst

C)accregst D)earearsgst

Answer Key : D Your Response : D (Correct)

Question No. 86

The difference between Compound Interest and Simple Interest on a certain sum for 2 years at 12.5% rate is
Rs.45. What is the sum?

A\Re 244N [Tk

S L e e e e e e B Tan




wF AT TR W 125% A T & 2 9§ F THafg sqer 3R WURYT SAST FOIHR $.45 g1 98 IR AT
Hifsr

A)F.2440 B)%.2000
C)®.2880 D)%.3000
Answer Key : C Your Response : C (Correct)

Question No. 87

Which of the following dams has been built on the river Krishna?
A)Narmada Sagar B)Hirakud
C)Bhakra Nangal D)Nagarjuna Sagar

faeafaf@a & & Fio a1 9T Foor 7 W AT WA §?

A)FTHET TR B)gR1&s
C)HATEsT AreTel D)=TeTSl= EIR
Answer Key : D Your Response : D (Correct)

Question No. 88
What is the remainder when 72 x 92 is divided by 8?
A)0 B)6
C)1 D)3

72 x 9 Fr 8 ¥ ST + W AV FT FIm?

A0 B)6
C)1 D)3
Answer Key : C Your Response : C (Correct)

Question No. 89

The scientific name of modern man is-

A)Homo habillis B)Homo sapiens

C)Homo neanderthalensis D)Homo erectus

YA Fepsa T AT AH AT §?

A)grar gfafore B)gIH aftw=d

C)gHAr fiusteiad D)e#T Syaed

Answer Key : B Your Response : B (Correct)

Question No. 90
In which of these countries were the first Asian Games held?
A)India B)China
C)South Korea D)Japan

Tgel TRIAS Vel 1 3RS Se1 & frer &rr 3F R arar am?

A)HRA B)deT
C)gfaror sifar D)STareT
Answer Key : A Your Response : A (Correct)

Question No. 91
L o s e A e e R ) T | T



When brake is applied in a bicycle, the brake pad touches the wheel. Now what stops the movement of the

wheel?

A)The friction between the pad and the rim B)The brake pad falls down due to gravity and stops
movement

C)The magnetic force between the pad and the rim  D)The electrostatic force between the pad and the rim

ST Wfhel F 9% FAIRT ST §, o 9% 43 9RT @ THRT IR §1 3@ S @ FiaT @ 9T @ afy @
JAFam?

Az 3t ReT & & & T B)3% U3 TEcaENOT & HROT AR AREr ¥ 3T AR
e &ar &

C)¥s 3R RA & o< oferey arell el ol D)¥s 3 RA & orer oerelr arell [ ERREAST do

Answer Key : A Your Response : A (Correct)

Question No. 92
Which Indian city is also called Tatanagar?
A)Jamshedpur B)Bhilai
C)Ranchi D)Dhanbad

P ARAT AT Y PR 3 gl ST &7

A)STHAGYT B) errs
C)Tr= D)IeAdle
Answer Key : A Your Response : Not Answered

Question No. 93
In which natural phenomenon is static electricity involved?
A)Lightning B)Rain
C)Twister D)Hail storm

e wigpfas aear ¥ wifas fRgga wfae @idr 82

Ayafsa B)awt
C)sast D)3iTerT-gee
Answer Key : A Your Response : Not Answered

Question No. 94
Product of two coprime numbers is 903. Find their LCM.
A)Cannot be determined B)903
C)301 D)39

ar RS WA T IOETR 903 §1 I T.H.T (LCM) 7 el

A)TdT T fRar ST Fehdr B)903
C)301 D)39
Answer Key : B Your Response : Not Answered

Question No. 95
If 0 <0 < 90°, solve for '0' where
cos20-3cosO+2=2sin?0.
A)30° Sat

I S T N A e

=il



I 0 < 0 < 90° §, A '0" T AT AT PTAT, T8 cos2 6 - 3 cos 8 + 2 = 2 sin? 6 &l

A)30° B)45°
C)90° D)60°
Answer Key : C Your Response : C (Correct)

Question No. 96
Time taken for a journey is 50 minutes at 48 km/h speed. What should be the speed, if the journey time is
reduced by 10 minutes?
A)60 km/h B)80 km/h
C)42 km/h D)76 km/h

48 TFalY / Her fr o W TH AT F oPT FHY 50 e ¥ At g @ 6T 10 A FH @ JIe, o 9
et gl =fgu?

A)60 RreY / wer B)80 fFalr / wer
C)42 e / Her D)76 Tt / wer
Answer Key : A Your Response : A (Correct)

Question No. 97

Choose from the alternatives the figure that best completes the

pattern given below.

A

A) B)

Va

faT v el F ¥ 97 Wl g4, S ARy T e Yo w9 e
Ll

A) B)




) D)

4

Answer Key : D Your Response : D (Correct)

Question No. 98

A postman was returning to the post office which was in front of him to the north. When the post office was
100 m away from him, he turned left and moved 50 m to deliver the last letter at the Shanti villa. He, then

moved in the same direction for 40 m, turned to his right and moved 100 m. How many metres was he away

from the post office?
A)100 m B)10 m
C)90 m D)150 m

TF RN SRR e T 9T S 38F AT 3ol $1 3R 91| 519 SRR 389 100 #H1eX gF 41, 3§ v 5
qifer e # 3ifow 7 &7 & T 50 e Tl TF, N A AR 40 AT 6w # gem, 3R A 3=

A 3R FFFT 100 R Fe| I8 e ¥ Frcter HieT A g | 2

A)100 #HIX B)10 #Hrex
C)90 #iex D)150 #Hiex
Answer Key : C Your Response : C (Correct)

Question No. 99

In universal indicators, a pH of 4 to 5 indicates-
A)Strong alkalis B)Weak acids
C)Weak alkalis D)Strong acids

wrastAE gaat 7, 4 @ 5 F pH AT A $AT T 87

A)gee & B)geel 3
C)gaer &R D)JseT 37FeT
Answer Key : B Your Response : B (Correct)

Question No. 100

Which number will best complete the relationship given below?

Basketball : 5 :: Football : ?
A)13 B)7
C)11 D)15

Tl W FE A Ru 7w Heer o weloasw G & qof :e?

: 5 - W.? T e L e e e T R R Y e e e N e B ) ;:T?



